] investigated L
ENC

© ©

Cornell Umversﬂy)@ the effectiveness

a1t

10| RUF £ A= FFY M+E AUY2EM WSS 77| WY
VIR
of this tactlc] ( in 1998
@ ~o Ol * ME @ ~o 19984
in + 9E > & o= R FEAIEE TR WER

v tactic = strategy

HEESte oigol FSEA'R 2N

He persuaded

l

@ MEsIE \ M 7Hey AT{Op \ @'.'.}')“ ol
) © in + 5 A%
persuade + O + to R : 07} RS|=& d 55Tt
City, Iowa, )] ! offer
lowaZ A&ttt

@

v discount = reduction

|—>colon D RAHOR AA

IR EBSEMLE http://cafe.naver.com/englishformira a1
the number of + H4HA} @ ~9| 4 (TH4HF)
—\ [a numbe of + EB4Al : G2 ~ (243 2) A A= - T FESH|
- 1 A
2 : J717HO OISt A O] IX@=Oo
Restric (the) number of |tems] customers |||48 @ 2H0l 7YY = U= 224
prr o] O~ ==\ | =z \ ||[1+E MEste, oigol Sotstct
EI:H :
s34 S R PP
w, [ =
1. SHAIR? SAIS HALR H
v restrict = limit v boost = increase :;0 I-E ° I-.E © I- I--E-
BHA of 2. PE| : At + ing
can buy} ]] boosts sales. 3. 84 : ~%, 7|
st \ o|O|Ato] = L0907 2HA
— =om7| > oMol otse 2B | || 4 S0ES £ =47
@ MWes WEt — Mz 2 5. SBA B4 : not, never ~ing
\ @ / 6. toB YA FAMY Y Zot.
— (V +ing =to V)
K =
o, M4 SOl SYAIR & 4 Uk
Brian Wansink; Professor of Marketing { at | =, 0 " © = 0 T o o
P 0t @ 0| DAL toRAMS
comma A}O|0f|
52 A
/ K

< A|ZF AZ|AF at, on, in >
at - ZH O A2t

at 9 a.m

at 2 o’clock

on - Gx, 2%
on March 2nd
on Saturdays

in -k &, AR 1 AZH
in 2002
in May

in the summer

20| AYY 4 A= B2 H4E A
gtste A2 OiEE  S7HMIUH
Cornell University?] OfAE w40l

Brian Wansink= 19980f| O] Z=Fo|
SME RAHICE / 1= lowa®
Cityof] Al 7H2|

Campbell®] £ & o7t

Sioux

Olh A]I-ll]l-?'llO'

a small dlscount)]l 79 centsGather tharD 89 cents.
oF7}t9] &to| NE F\

A rather than B

StE& YSUCH 89MET} O
2

: B2t7| HOH= A
> M LHOM £EF
of It &folstol MF
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discount €QI5C}
[ The discounted soup ] was sold ( in one of | A >
A gl mEet @ -2 oY @~z - WIEME?
® (2 24D (~ZH) +59| _|u|E 24 E8A
@ 2. ¥y :
. 22 3. 31y - ~%/EIE, ~A/A|E, e
colon : AHHOZ HA| “ — =
three conditions ): a control << where there was ) sroist
MR T zA N\ EE RERA discount aaer
- mARAe A4y gy U X discounted WS HAZA
SV Ex|)
o o = comma + where
v limit = restriction = and m_ in the control
< AEE SHM >
[ no limit ( on the vqume of purchases ) ] >> or 59 4
(540]) At @ ~of & @ ~o| JOR3H %\ ~ @t ~ @ct, ~ (et
\—bm 2 AAMSH= 5HA o — A%
HALE £A5H= SHAALO|Z| gt sell - sold - sold b
SoHAISE [ E ZAIE I:IZ'I%I- o
e o= 3 { :";: flimit A to B : AE B2 A|3tatrt,o| 456 | be sold Bt (4S5
two tests << customers were limited to
S S EPYETEAN BT \ be limited to ~
- Asne A5 82 &) FTE AR < EARAR ALY Y >
= comma + where = comma + when/where + 23t E%f
= and m<—in two tests
[ elther four or twelve cans ] >> A LA whenZt wherei=
a o\ A4HSYOR ALRE 4 UCk

©

/7

2 @ ~utgio] @ ~OME &2t
TEEER - 279 MEZ
> MAZL ‘27Ag UEPE of, o|§ §F xS DA XD
ZE AYLeR 0171 TAH LA wheng & o UL A/1270 20§ Its
ZZ AL
condltlon ) << when| there was a Iimit,>> they bought
KEHAL At 2ot
mARAL Asy gy (01X &
SV kx|

either A or B

> Hz2Z
2712 NEZ

Foiesol MEE UL
LEE AT Y127 30 s

* AO|7{L+ B

In the unlimited condition

235to) =7

shoppers bought
ZO4R A

— O2F : 42 2Ol AR 9

=

comma + when

and .4—— in the scarce condition

5.3 ( on average. )

Th|s suggests [ S
Hoj 0t

______ ora
mayoz

BAE

illﬁi

24t

(=]

[ S =]

®

v scarce = limited

> ™2Z 0 W 3.3M o

272l AZ L T 5.3 30

carcity encoura

v encourage = boost

_IAJ\‘l

®@

eqsict

se; sgec. |
®

| > 84/ TR W |

1. when (= and at that time, and then)
I'll meet her on Thursday , when we’ll

have a date.
= I'll meet her on Thursday, we’ll
have a date fthen.

2. where (= and there)

I went into the coffee shop , where I
met her.

= I went into the coffee shop, I
met her ftherel.

BE |35t

A be limited to B At BE HgfEct

Y (+5H)
YUIE 2T N IR 2 F 5L
2702 WONEIYUCE: ZOFO F3Ho|
Qe sfe| oz, E& aMo| 47fel
MOZ AL 127H2] HOE A3t
£ £ 9 MR/ BHF ZHYN 7
A S BP 3378 FUMH ubH A
50| UH 3|4 ZAOME, BF 5372
FYslct. / o]z 5|la’do] WOHE
BICHe 2 HOIED
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"
The findings are(particularly)stron /W
a Az \ @ =3l 458 U=, @ ~Ij2of
Etg st

®

v strong = convincing ©

v N
the test took place ( in a supermarket ) with
__®¥  Qojgr ® ~ollA wHOPE ® ~o| gt

@ @ take - took - taken

take place ojLCt

genuine shoppers. ) | > BHBH Aol oiRo(A 1 |

mte Zojz N\

LA A © /g, ~A/AE, e PO

B2 + nor + beZAt + F0f I

claim FZFsiCt |01¢' :
It didn’t rely on claimed data, // nor was it held

=Kol ]

0|

|

nor—

fand ~ not ...,2
nor C}20f| HO| O|0{X|= Z L0
SAHbeSAH + 30,2 FHE{L}

Tnor + %

—’_-T—AI' nor >

MOl o oA ChA| B

AL -5 & Ofichel Eoz
2 HRo| & 4 Uct.

Zo| £x| 20| Molct,

Not a man, a woman, RNOr a child, is

to be seen.
HALE O|ZtE E O{UO[O|E KO|Z|

orect,

I am not rich, NOr do I wish to be.

=1 am not rich, and I do not wish to

be (rich

).

£ 2P} ofD), £ 1A 7|8
US| £ Qpert

® o ezt FHY MM g et O
(7 ZAH Lo ! ]
@ O|20{A L} (=SElf) | He can’t speak French, RNOr can I.
v rely on = depend on @ @ = He can’t speak French, @and I can
BASA+ 273 ¥ = and it'was not held ~ | oy
(_i_n a Iaboratory) here consumers-might behave | . naioz o 2 men gz Ay
@"'Oﬂkl Al Al —— AH|Z} \ ~QZE =5t ul-'i—l-jl-Zqu = =2 ’ =
HAAL + B 220 h'
W) of ML R TONRASO| U AWO}
OlM HH=R7l W= 1 o= |

[ > ZHstH Asiol ool 2 |

( differently. )}
o2

L
r

£Q

H1 ojn lo ob ¥
me rix
ol
X

m
o
—°||-'
5 L

32
J'—l

]
Hn
T jo

T}
r|r

aze 738 oolE

AH|LEO| CH2
ERLNCELE]

5H
S
A




(For example ) (

in many office environments
OA
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toHAAr] HSAIH 8%
S44: ~L = 24 o : 2E 24 P
(FA2) AF SoA £ ; ~
Although technology has the potential increase ||| 18 *71&2 Aue0l 285U 9¥2
718 71|t 23 ot |||o1E 4 et
® 4| = ~o|z|at
= Though @ < SYBANYA >
= Even though LT8R CEACEAL + ever,o HEHZ MHAE
[ technology BN 8T war || EHSIO, WAL BArHE olBC
productivity ]' / it can ( also ) have a negative impact ~3l= ZHS Hoi0|E7|
e £ ~of BHHQ Jag oA N % At (=anything that)
N / O \[|| whatever 2012 ~oHtE
v have an impact on ~ : ~0| ¥&2 O|x|C} HAH(=no matter what)
= have an effect on ~ = impact = affect ~5t FRAEA
whoever | MAA (=
on productivity. > UGS HRRA 2ANA| ||| omever | S e
/T t L] A4%e DA &£ 9 EAMH(=no matter who)
‘S © ) ~5te Ol Z{0[E37]
. HAI& (=anything that
whichever 2 (2125( ay% ~6g:-|:-|21-£
HAI&E(=no matter which)

)

oro 1 —
& & @ ~0M =T A 3 \ < ESIMA HAL >
v for example TRALAL + ever o HEHR HHALE
= for instance = to illustrate E3otH, AZh-E49| HArdur FHI
' BAEE o2
workers sit (_a__t_ desks) (_\_A_/_i_t__h_ computers) // and & M= oA
o °|' 5 . NN
24 A @ ~of A @ ~7t YA HRH whenever A|ZH=at any time when)
® O AH -2 SHCiFE
ZH(=no matter when)
~5H= oL £3]
dIA %4 (=at any place where)
have access to the internet. > olA 1 NRAOIA wherever |0 b G ~3IEELE
= OlE{ X a
~oll &t L WEAE SRS 2H(=no matter where)
O, © otsE) ~stoizte
however OFbi (=
v have access to = connect to &Z(Eno matter how)
They are able ec ;their personal e-mails] < DI >
~3 _l?_l: 7 ?—Io = =
O EXC o Ao N o e wey wae map s
) . toMH AN EAIEHE WS tolt
v personal = private C o _
M g CHRYARID ot
are abl
< SEPALA > R B
and social media / whenever they want tol.
44 ojgoj ~&t mjofck Holtt = to check their personal e-mails
@ = at any time when and use social media
P> A wiottt ol olpI]lg Holstn
r’?:* 220| £ £ 4 oiYo| A8 s
. . 7|22 AMAIAMES Ol A Ol ZIZHEi 2
This can them (from do@ their work//gAnAg le2 ‘43S =9 + AU AUAS
@ . A | Stoh\ | Q YN |ZHA| L QAT ESE Lo 2
QR | ! YIS 0| 4 Uk / OE S0, Y2
stop A from ~ing ARA BHOIN WSS ABET Us
© A7t ~ote AE st v stop = block = ban ZHAFO| OrOF OIE{Ulo) H&stCt / 1EL
UF mopT 4 oYL BOIStT 4
make them [ less productive. ] [> e wetstn, re ] | M O|CjO|E AFRE A QICh / 0|7 1
ohSCt = Aol Col ole St e HrEstT =
® e e ne st e So| Ug st: g WaEL 1S9 A
make + 0 + OC(J£Ah : OB OC_C’I'jl _I_EEI- AP 2 moj e A |;I|_|._% 4 olrt,
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|[ Intro

FAH~A.Z]

duc@

=5t}

@

H2zq
To

have a negative impact on productlon/when it

o 9%

— - AHA

-0 £330l JFe njx/g e

/ ©
v have an impact on ~ : ~0] ¥3FS

oSt 2.2t - NRE 3o Hist
S01at~71 7)) - M2E NERE WeES 23
o A
[ 6 [ Us technology] can enable businesses

enable + O + to R : 07 RS} stk

= have an effect on ~ = impact = affect

AHAF

A| AEH

38(I18)

introducing new technology <—|

® ~& 0 (5,0

ojx|ct

require + O + to R : OO0f|# RSI=& RA15}Ct

a new system. ] ]]
N2

new technology ] ]I can (also)

>3t

ool

F7Ist

> oA 2

M2E 714 =9

73t stet

©

71

v enable = allow

[
© @

produce more goods | and get more (out of
gastt o g2 AHE T ot o %2 @~E_b'._51
&
v N
the other factors of production.) ] > 182 AT
o2 ar \ 7 Ak (st 2%)
SEAN-27])
Learn use new technology] ]] can be
HY S L ARSI MEE 0
| [tommatel mar g
learn to R L A ~Z, ~7
" RetE AS HIRH | =z=o, ) HO|2 Mo

ZI.EI

s
(=

AH }sl-kl

n
o
Rl
v

AFE? SALE BAIR HrE

P AQAH BHA
=1, T 17

o 1o 2 o2 ofn O
-||IoEE_|k-_F-1._oE

A} ! not, never ~ing
:g)\rg| WA Lwa 2t
+ing =to V)

?iil*l Holl= SBAI & &~ UG
AL SOl toSHAE & 4 gt

oS A WD = A

P
o

2 ol
=
2

r
=
v

or

< toEHZAI 2HARO > - 99%

ask, advise, allow

RS}, AISILE, FY5iCt

cause, enable + 0 +to R
Qursit, JHsstA| stot :
force, encourage
zast, AFsHH

SYAHO A2 0| SAE 2 =
99%7t toHZ A7} 2Lt

< SHAIE SHO|R 5t SAf >
enjoy, stop, finish, mind, practice, keep,
put off, deny, give up, suggest, dislike,
avoid, quit, consider, imagine, involve,
postpone. admit, resist, risk, include,

appreciate, recommend

< toRHALE

want, agree,

202 H5te
choose, decide, expect,
fail, hope, plan, wish, pretend,
manage, promise, refuse, aim

A >

£% | Mo W

Yoonmorgorzas LAEHATHE @ o
learning to use ~ for workers
T decline in ~ : ~_| A5},
:
// and this can cause a decline (_I_I_']‘ productivity. )
@ OF7|5tEt A5t 4L
O OINERE

LEYE QU —> NNH

E3 22 7lES EYSHE A MM
BHol WS OPISL HBEAH A
22 AAHS HES Q73 I Wi
of 2¥Hel Y3k 0 £ UL / O
&8 A8SHE 22 7|90l o U2 AE
2 MASHL CHE MM RASEHE o
UL AUS U T 4+ UCH) / M2E 7|
&2 A8StE 2 HLE A2 MBS
oA AIZto] Ho| HET AEHAE F
4 9L00] 0|2 WA A3HE oY
£ 9tk
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27 9= : 29| 24 TerE|
(Up until about 6,000 years ago ), most people A8 SPE ATRY A A2
& o oF =\ A fiso]  Afs  ||HE0 AIZHe ¥ BRI Yol o
. _ = F2AR0M A7| AZSIHM AAHE
(untile] ZH2%) ® ; .
YUPM L 5YENA| FSHA E AL
were farmers. P 6,000 AMA THHEE SHAZ | < enough >
W &= \ @ 23 AOfA] 24l
© 25, B HOIM 24
v different = various =~ enoughl TALE AAISH: rE2ALY
Many lived ( in different places ) ( throughout | mis BAF YoM 44512,
W2 MFE 4\ @ -~oq  oE ¥x @ ~UU, ~5Q Z | BAYHBALE A5t THALY OiE
® © SAR A SlOIM A4
2A72 EA72
the year) /huntlng for food or moving their livestock
1 \ / qE Y goi\e 7r=,-
~2 =0
& omus 88N (770 - B
=HEA+S +V
= and they hunted for food or moved their ~ ~ing <51'7‘"""Lr (~L.2) s FEA
AR ¢ HEHAL + S +V
( to areas ) ( with enough food. ) > EHTUD ofH

I:I'|0|

@ ~7t A @ ST
R~

@ HEOIM NS

A4

AN =4

There was no need teII the tlme}/pvgvggvgvsvg

< HA AP >

RESAL (@) (#3O) BR | Azt @ ~mzo | 1. BABA? SAE YBALR HHE,

(A0l X, @ i to%xu A 84 2. §Ef : EA} + ing

SV £3)) e B 3.8 : ~L, ~2, ~9

byyre 1! B4 HOIMEN
I|fe depended on natural cycles, such as the |change &1 315tC}
\ / Al FIN N~ @ -~3 L2 changing HSHSHE (S22 A
@ o @olq = like
A EAH~L, =) v depended on = relied on

chan seasons or sunrise and sunset ] oS HAIS| HAH 8%

BSSke 1 A"\ e

== S :

P> Aol Z7(0| Az

change H3fstCt

-2,
20|, (@30)

~7|

, HO|E AQ

— Mtg o e Ug
N N : many - more - most <> are
[ Gradually more people ] started I - I|ve (ln much - more - most <> are
8 o M N @ ~ojl
® (many2) HIEE) ©
v start to R = start ~ing : ~5}7| A|2t5tct oF 60004 TR, HifEe AESS
SHAC / W2 ARES ¥ 9 Uy o
larger settlements ) ]//gpNg some needed [ tell ||ay zraoyM Arorm, Alzrs zpopciy
= = ARAAAR Iy AlRIE oF f o =m= .
o 2 PET M e=an] o |4 7tas aEw ot g Ayes
@ @ @ =L /[ Hatsts AHo|L s U=
22, AdHQA F7|0 40| FHU7| o
toE AL HA 4 2 2 A|7FS o I Q 7} oio] A2 G
the t|me ] > e %7.3_,4_740“ "&‘” /*|7“-§' 05+S l'—l I- |_0" II_E = E-g- I' IiAMEI-/ (=1 'I
. i - ~2, ~7| W2 AEE0| B 2 FRAR0M 7] Al
Azt — Mg of HeTt MY -
Z0|, (530}, HOj2 4ol | |33 ofH AZES AUS ¥ Tat
o At
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v for example = for instance = to illustrate want to R : RStaL 4l0{StCk
( ) [ < OJEAl + toHHAl >
For example priests wanted - kgow - o|=Ap + 20| + should + R
o= MzIzE \ \ $ | 2+t
o) | : i . = =L
[ eorm ou ¢%°ér:r agstct e ™ 5@° to R ARS) 1. how to R : O ~#3|, -5t Y
carry on  A|43tCt (= continue) ALY 2 how @/® to R : ~5t= 4
Ooje ~5%
i S
. wha o ~3t
| when carry out | religious ceremonies. ] ]] ] which ® to R : O @& ~&x|
Totm g ¥ yyetct  SEAT oM Y 4. where to R : O[CjojH ~&3)
= when they should carry out ~ R TR e T T B 5. when to R @ Q1F| ~&3|
Q{Alg MHBHER o HoisE 6. who(m) to R : L7HETLE) ~8H3
the tlme MEAL Mt .
MEHALZ} AMEEEl DA HALZL O[Tl AR 7. whether to R : ~QIZ| OpHZ|
This was |[ when| people ( first ) invented clock;_jl R : EAIY
G ) 4 =Ast AN¥E AR gmamy\ A4\
He hasn't decided where to stay

© ="

.JHH .@ )

A ZAH-L,2)

pas time. }
a2~ At

show?]

=
pass SE0O eep track

dash : 345 Y
—_ devices
BTN EEC R

measure?| 0

©

235tc}

@

0

of? 0

v keep track of
< |ose track of

show, measure, and keep

0,

(=]

track of
~g 233ttt

@

?_

during his trip.
= He hasn't decided where he should

stay during his trip.
d+&= odlist= 8¢ ofoiM HEX| A

(z412)

AN (@R AL)

® ©

=835t

Clocks have been important ( ever since, )

1 0|32E

(P oo ke 2% |

use AME5StLE
(Today) clocks are used |\ for

e=se Al

®

xr%@cr

important thlngs

|

a3t

Eli)

SEi

SiM >

~@Er ~ @)et, ~ (et

A5t Ut
< BARAL > = HM2|A} + BH-O

1. MHAZE :
the country, the house, ...

HAp = at/in/to which

2. MRAPE KZH
the month, the day, ...

the place, the city,

- 2

the time, the year,

= when (they) take off or land_

N set_l 0
such as set busy airport tlmetables ] ) —
- Huu _I_OI'
@ ~3 g2 Mz-lo k= *|7|'-E J
= like dash : H42Ql HHE MY
(~3;',7I)
v aeroplane = airplane
if the time is incor_'r_ect,/aeroplanes might crash into
@ -~aicp MU (yy) SRR H 347 ~UAE -9t ZESIT
e  © © s
HEAE H1 EAE
each other / when taking off or landing!
4z @~y \e g sicp
aeroplanes O| §sttt P GIAl  AHE dbE

B MUER AA

— HAHEA = at/infon which
3. MalARZE : the reason
— HAHEAL = for which
4, MMAZL ! the way
— HAHEAL = in which
o A EAL + 2T A
e the way?} how= 0| £ £ QiC}.
= 5 St4ar Mof 3o},
the way how (X)
o 9| 471A] BAHEA=
LA EAL thate 2 HEY & £ QUC
o TAEAMS M A QIC}
o MlA= FEF Ui, M= 4 QAo
OlE =0, dAAES A 132l 9
A Z $USHOF St=A| Y HUH. / O]
o AtEHEO| AlZHE Eoxid, 35ty
SEE AN FRAstE H2QY AMAE
2oz WUEsiLy / AAE 1 O|2RE
83t / Y, AMAE HHE 3 A
IHRE d3sts A4 #2 23 Ao
AtEEO — QreF A|7to] B ESHHH
HIH7|= O|FstHY 288 I M2 F
E¥AE BEC
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st Sl (A 27 o : 29 £A TeLp|
2 - £ Hole EsH AAIAM S Ol
Managers( always ) Iook@ for ways HE : =5 EUE BH JU9F =4
- A O]
22|zt s FI I | + 9o
~2 z;cr |
® A\ / 0 @ | toR AL Y EAIY 8
M~ E
v increase < decrease 2 ag " ratio H|& ;;IE;E,,, TAp SO A LAl
increase productivity } << h|c is [ @he ratio of)
0 AHAFA
o]t At @ the ratio of A to B | < EAUBME A% 81>
H o 3
= DA HAR) 71|J_Ikz1 29 A ojy] Bol ulg | - SSAREEEALS S
= M&Al + A} i 2. HAILBAL A0fl (comma)Zt ALt
=vand @+ productivity | 3. YOl BACFALY BTt Y
| 4. thate 2 2 HHE
costs output ] ( in productlon ) >> i 5. CHO|=Or OfLa} e AAISH7|E &
Hl_g_ ! AH}\I'E'J: @ ..,0"*1 o |_ !
| > AR B4 MRS £ & e HHE HE |

(z42)

M= Y EAH~L, =)

. < A EAF >
Adam Smith, wrlt@/when [the manux}‘lacturlng | SASAI? SAIE HRALZ HIE.

® assy 0¥ “'é 2. %) : Bt + ing
3. 84 : ~L, ~2, ~9
SR EALL 24 MFAL a WaY-‘?-I' 3'*71|'=’*|' hows
SPH 0] £ TH HA write A &5ttt
industry | was new }, described a way writing A& @HEAD
AI-Oi @ AHE_,_ T\ I:II-AI _
@ = in which
AL + 2-Of
= [ K=3
"make + 0 + OC(@8A}) : OF OC3A| QrECH. + -2 44 make 0 OC OE OCsHA| gHECt
. . » v \
production could be Imade more ef_f|C|ent ] } /
g BHEOIRI} (+SE) o a&xd v
) ® S be made SC
L,

_ V. ®¥Y s scata mrsoja
being (AZE)
\/ _beingo] Mas EALRE - e

known as | the d|V|$|on of Iabor

~2AN &3l =49 LE

= MAAF+ S+ V P Adam Smitht MIKIEE MRS be known as ~ : ~B2M LHZ|L

= and(it)is known as FOlL WY = £9 be known for ~ : ~Ij-20j &{%|
Ly 4 way that ~ efficient HERFELS SHAF MARMS kOl A Ol
. HH=H£ Fdan OIEE, AHLI-A-I% AHLI- XA
|[ Ma [ most manufactured goods ]] involves 3 s c-es C A
X G=rf\e HEol  AZE) (WHEAN  AE mararey \ ||H18 HiE AUT HIEoIS / A= 4t
o ZArE @ 20| MZ SHWS W A& Adam

o] = . _
@ s34 manufacture A|Z35tC}t Smith= gifol B 28H2F B 4 8
CRAZD aprear sy ~B/EE, /AL, e L WNg 4EYD bS5 EYoR ¥
ﬁzﬂ—.:*r(w,E) A AL / QB2 JiHEFES UEES
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